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QUESTION 1

WLAN engineers need to test the actual attenuation values of different channels in an obstacle in the room. Which of
the following steps is correct?

1.

Configure the 2.4G and 5G signals of the fat AP, place and turn on the signal source.
2.

Select the obstacle to be tested

3.

Using the signal scanning tool, test the field strength of the signal on both sides of the obstacle.
4.

The subtraction of the two can calculate the attenuation value of the obstacle.

A. 1234

B. 2143

C. 1324

D. 2134

Correct Answer: D

QUESTION 2

Which of the following devices can be used as PDs?
A. Wireless AP

B. PoE switch

C. AC6605

D. VoIP phone

Correct Answer:. AD

QUESTION 3
Which of the following options are inherent properties of the antenna?

A. Horizontal lobes, vertical lobes
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B. Downtilt angle
C. Azimuth
D. Gain

Correct Answer: AD

QUESTION 4
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The following is true about deploying the AP6310SN in the warehouse coverage (the AP is placed at one end of the
warehouse, and the antenna feeders are not equal in length).

A. Recommended coupling

B. The last hop is generally connected to the 5dB coupler.

C. Need to ensure that the output power of each antenna is almost the same

D. Can provide dual frequency coverage

Correct Answer: AC

QUESTION 5

Which of the following options is not a PoE term?

A. PSE
B. PD
C. Pl
D. POU

Correct Answer: D
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